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PART—I / wir—I
COMPUTER RELATED KNOWLEDGE | %¥oJeR Gaieft 7

1. A software which allows you to gain
administrative right to someone’s
computer is called

2. Which is not an antivirus software?
(A) McAfee
(B) Norton
(C) QuickHorse
(D) VIPRE

3. What is the frame rate in a standard
(
(C) 124 fps

animation today?
(A) 6 fps
’ 0:
(D) 160 fps
4. Which is not a@er animation

‘ B) 24 fps
software?
(A) Flash
(B) Maya
(C) Python
(D) FlipBook

1. 98 Wifa®, St & oot feedt oy %
TRk IENT H AR T Tom
AT 8, FHEAT 2

() 2 g
(B) ®efthe
(C) s

(D) 9

2. FHH-91

(Q (QuickHorse)
®D) S (VIPRE)

3. TSRS e UCHAYH 3g B Ye w7
(A) 6 fps
(B) 24 fps
(C) 124 fps
(D) 160 fps
4. HH-H T FFAR A wioeda 76 27
A) v
(B) TR
(C) Uz

(D) TwTvge
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5. Which of the following is an optical
drive?

(A) Hard disk drive
(B) CD drive
(C) DVD drive
(D) Both (B) and (C)
6. Which of the following relations

is correct, when arranged from
smallest to largest?

(A) 1 bit < 1 nibble < 1byte <1 TB
(B) 1 bit < 1 nibble < 1 MB < 1KB

(C) 1bit < 1 byte < 1 nibble < 1 KB
(D) 1 bit < 1 nibble < 1 TB<1MB,

7. What is SERP?

(A) Search Engine Results

(B) Search Engine Resul ider
(C) Search Engine Page

.
(D) Search Resource

Progr,
8. Mozilla &is a/an

(A) browser
(B) editor
(C) compiler

(D) None of the above

5. Prefufaa & & SW-W TF AlTHd g
¥

@) T fewh gre
(B) Ho o grga
(C) Fto dto Elo gRA
(D) (B) T (C) A
6. Prefufaa # @ ®9-w ey @A 2, IR
BR A 92 3 A afea o sm?
(A) 1bit < 1 nibble < 1byte<1TB
(B)(Npit < 1 nibble < 1 MB < 1 KB
bit < 1 byte < 1 nibble < 1 KB

C) ) 1bit < 1 nibble < 1 TB < 1 MB

® *7. SERP # 7
@ (A) Search Engine Results Program

(B) Search Engine Results Provider
(C) Search Engine Results Page

(D) Search Resource

Program

Engine

8. Mozilla Firefox & T
(A) SR
(B) W
(C) g
(D) Iw & | F3 T

SPACE FOR ROUGH WORK / T ¥ o forg i@
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9. The lady, who worked with Charles 9. 98 9, S =l 99 F wry = e

Babbage and who is considered as T S8 Tgen R SR W R
the first computer programmer, is

(A) € I
(A) Lady Nesta N
B
(B) Lady Fardor (B) oo
C AT
(C) Lady Augusta Ada (€ Qel
(D) @< fary

(D) Lady Smith

10. ‘GIGO’ W R & frw fdwer @
10. The term ‘GIGO’ is related to which deiftg 27

characteristic of computer?

(A) Speed
(B) Automatic B W@

(C) Accuracy ( %

(D) Reliability ’\(D; 'g'sa'";“q“'

wfdhe a1 I el S @

(A) =iemfes wifvie gfve (ALU)

11. Printed circuit board is known as

(A) Arithmetic Logic Unit (ALU),

(B) Central Processing Unf (B) dzet srfém 3f¥e (CPU)
(C) Read-Only Memory (@ (C) frz-3ilt A9 (ROM)
(D) Motherboard % (D) HeTsE

12. What is ‘Strati%& 12. ‘€ (Strati) w37
(A) Supercomputer (A) GREIR
(B) 3-D printed electric car (B) 3-D fite wifaes #r
(C) Robot (C) TarR
(D) Computer software (D) PSR WK

SPACE FOR ROUGH WORK / W% &1 ¥ fiuw s
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13.

14.

15.

16.

Which of the following devices
allows you to print on both sides
of the paper?

(A) Fuser

(B) Duplexer

(C) Toner

(D) Paper swapping unit

High quality digital print which

is printed on a sheet of polyvinyl
chloride is called

(A) flex
(B) banner
(C) poster
(D) None of the above

Which is not a free open-s
operating system software?

(A) Syllable é
(B) SkyOS Q

(C) Linux

FreeB%
Which o e following is a mobile

operating system software?
(A) 10S

(B) BlackBerry

(C) MeeGo

(D) All of the above

13.

14.

Frefaftaa ¥ ¥ FH-61 Teamy MUl HrS
% BFI a1 A T 87

(A) K

(B) ST

(C) 2

(D) N ! SGeAT-aGe A ATl TH0E
= Ew aen fhea fie, @

Gfelifree weiREe & e | B fem
T §, Tl §

(A)
(

C)(D) Il B A A

.
5.

16.

H-TT T B (g9) S-uE TR

foreen diveaRR) & 87

(A) Tes@ (Syllable)

(B) i 3o Tho (SkyOS)

(C) ©E3F9 (Linux)

(D) %t Fio THo Eo (FreeBSD)
Afafes § ¥ SF-o1 A AR
foreen wiRIm 27

(A) Zo 3o TWho (i0S)

B) el (BlackBerry)

(C) =W (MeeGo)

(D) Sy @ft
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17. For adding a formula to the cell E10
in Excel, the correct option is

(A) Al +B1
(B) + Al + B1
(C) SUM (A1, B1)
(D) = Al +B1

18. In MS-Word software, a temporary
left or right margin for paragraphs
is known as

(A) indent
(B) gutter
(C) footnote

(D) footer

19. Which is a popular Chinese search

engine?

(C) Bing * 0

(D) ChaCha @
20. HTML is used&are

(A) Web page -

(A) DuckDuckGo
(B) Baidu

(B) operating system
(C) high-level program

(D) machine language program

17. TR § 49 E10 § wifen frey 3g wd
forehew R

(A) Al + B1
(B) +Al + Bl
(C) SUM (A1, B1)
(D) = Al + Bl

18. To THo-9€ WiRM # W ¥ fow
Tt STl Tve A1 g Wi i ey £

(A) =
(B)
(C)

. )

%\ﬁ’q—m H 1 o T=ford | o 27

(A) ¥FESHFM (DuckDuckGo) |
(B) 93 (Baidu)
(C) T (Bing)
(D) I (ChaCha)

20. HTML %1 39 ___ IR %W 39 Feam
ST 7
(A) 39 U9
(B) rmfén freen
(C) TR-viadd TUH
(D) wEf <& Tiuw
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PART—II / wrm—II
(1) GENERAL HINDI | amr f&=t

1. ‘srE-mEe g W am-we W | 28, ‘wew R TS ST 158 17

T H-61 PR 27

@A) ==
(A) €T
(B) oH (B) W

(€) w (C®

(D) 3o ) (93@
L 2

22. ‘ot & T W W, TS 04, Trefifad § ¥ #M-w1 T dEH W
el TR fome i, ST AR ’ T T R
0 e 1 IR 37 Q
O
(A) T
(A) WQ
B Tﬁﬁm& (B) AT
(C) =uiE (C) W=
(D) & (D) STl

SPACE FOR ROUGH WORK / T &M % folg s7Tg
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25. TS ST gRIER @7 o7 §

26.

(A) TH THR H SR
(B) < gl
(C) T3 e

D) 3u§wh H ¥ 1§ el

W g 5 @l e 3
A) Afeear @ gfeer g
(B) w&d WM B

(C) =ga &t B

(D) IT=BI-FU TR Th FHFAT

27. SEd R IERY 6 oy

amwﬁﬁqwéﬁﬁfﬁm

(C) g

(D) setreama

28. &=t & et Y v @

(A) 373
(B) T@
) ®:

(D) =R

‘Tl He-a1 gaw 27

30. W@ % 3gFal i vE ¥

(A)
(B) a9
(C) =R

(D) ®:

SPACE FOR ROUGH WORK / W %1 % ffy wg
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(2) GENERAL ENGLISH / ¥ St

31. She said, “When can I go?”

Choose the correct transformation of
the above sentence into indirect
speech.

(A) She wanted to know when she
could go.

(B) She wanted to know when she
should go.

(C) She wanted to know when can

she go.
.
(D) She wanted to know when to
32. Choose one word s ittite Jop ‘one
who escapes from alities’.
.
_(A) Esca@
(B) Rapist

(C) Polyglot

(D) Benefactor

33. Which of the following is not a

synonym for the word ‘inundate™
(A) Deluge
(B) Swamp
(C) Engulf

(D) Drain

34. (& the correct antonym for

oS8y’
QQ» Sleek

*

35.

(B) Glassy
(C) Lustrous

(D) Matt

Choose the word which is correctly
spelt in British English.

(A) Vilain
(B) Vellain
(C) Villain

(D) Villian

SPACE FOR ROUGH WORK / T %M % Tt SFe

0217 /SE-SJ/RCE-M/1-C
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36. Choose the sentence which is not
correct.

(A) His Mathematics are weak.

(B) Mathematics is exact

science.

an

(C) The news is good.

(D) The news are good.

37. “She went straight home.”

In the above sentence the word
‘straight’ is used as

(A) adjective

(B) adverb

(C) preposition

(D) verb

“After the shower was over
shone out again.”

'S < ,
In the above sente% word

‘after’ is used as

(A) preposition \

(B) interjection

38.

(C) adverb

(D) conjunction

39. Choose the expression in which the

use of preposition is correct.

(A) He refused to answer me.
(B) We entered into the room.
(C) I asked a question to him.

(D) I could not answer to the
questi

O

49. “Bhey gave the child an injection.”

Wich of the following is not a
orrect transformation of the above
entence into passive voice?

(A) The child was given an injection.
(B) An injection was given the child.

(C) An injection was given to the
child.

(D) They gave an injection to the
child.

SPACE FOR ROUGH WORK / T %M % fofu s
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41. A boy walks from his house at a

42.

43.

(3) GENERAL MATHEMATICS / WIaW=4 TIfora

speed of 4 km/hr and reaches his
school 5 minutes late. If his speed
had been 5 km/hr, he would have
reached 10 minutes earlier. The
distance of the school from his
house is

(A) 5km
(B) 6 km
(C) 7 km
(D) 8 km

What decimal of an hour is a
sccond?

(A) -0029
(B) -00027
(C) -0027
(D) -00028

The speed of a® o@ still water is
10 km/hr. If @ravel 26 km/hr
downstr 14 km/hr
upstreadif althe same time, then the

speed of the stream is
(A) 4 km/hr

(B) 45 km/hr

(C) 5km/hr

(D) 3km/hr

L 2

O

4

L 4

41. TF oS 0 WA 4 km/hr H T F

el & SR o1 T 5 fime I @ wge
2 of Sgh 9@ 5 km/hr T, T TW
10 fFe TER TS| 6% T R W
Ul

(A) 5km
(B) 6 km
(C) 7 km

(D) 8 km

, Tk T 1 Topa qEE 87

() (A) -0029

(B) -00027
(C) -0027

(D) -00028

43. Tt @ & wfa f@r o # 10 km/hr

2| R og AW @ § YER H 9 H
I 26 km/hr 3R @@ 6 97 % TS
14 km /hr Jodl 8, A oR1 6 R R

(A) 4 km/hr
(B) 45 km/hr
(C) 5km/hr
(D) 3 km/hr

SPACE FOR ROUGH WORK / Th & & fog W78
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44. A train running at a speed of 44, QE?("I’IIE’,I 45 km/hr &1 919 ¥ 67 90

45 km/hr takes 10 seconds to pass
a certain point. Then the length of
the train is

(A) 120 m
(B) 125 m
(C) 128 m
(D) 450 m

45. The mean age of a combined group 45,

of men and women is 35 years.
If the mean age of men is 36 years
and that of women is 32 years, then
the percentages of men and women
in the group are respectively

(A) 75% and 25%

(C) 25% and 75%

5l wF o § Ry ¥ 10 Y@ @
I A R | T oy e d

(A) 120 m
(B) 125m
(C) 128 m

(D) 450 m

C) 25% IR 75%

* .
(B) 70% and 30% :VB) 70% 3T’ 30%

(D) None of the above

46. The monthly incomes of
Ashra are in the ratio
monthly expenses ar&.
3 : 2. Both of them
month. Find

income of then\

(A) ¥8,400
(B) ¥4,800
(C) 4,200

(D) None of the above

46.

(D) 39w A HE 7

FAA IR I ) wiRrw e 4.3 %
FIA | &1 3% s = 3:2 3wy
4 81 3 @ 600 ¥R UE B T99 5@
B | IR T Wi o7 o 27

(A) 8,400
(B) ¥4,800
(C) ¥4,200

(D) 39w ¥ § % 7

SPACE FOR ROUGH WORK / % %1 % fiyu s
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47.

48.

In a town, 25% families have phone
and 15% have car; 65% families
neither have car nor phone and
2000 families have both car and
phone. In this context, which of the
following statements are correct?

1. 10% families have both car and
phone.

2. 35% families have either car or
phone.

3. 40000 families live in the town.
(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct

(D) 1, 2 and 3 are correct

O

A person purchases two s A

and B for a total of sold A
for 20% profit and 5% loss
but with the $ ing price.
What are the ces of A and B
respcctiv@

(A) T225 T425

(B) ¥250 and T400

(C) €275 and ¥375

(D) ¥300 and ¥350

47. TS FRE 25% URER % T BH T 3R

15% % T/ FR 2; 65% GRERI & 9 |
& FR 2 3K T B 2000 WA % 9
SR ot w oW ¥ 3@ we #
Prffaa § 4 -8 o T8 87

1. 10% UReR ¥ U™ FR IR HH
T 2

0 35% GRERI % UE WA FR A
|

3. R § 40000 YRER & B
2 7l ?
1% 3 v ?

(&)

()(C) 2 iR 3w ®

L 4

48.

D) 1,233 w2

w =R Y D aiEt A i B, £650 R
oot o T G| TR A Tl A
a5 |, A F1 20% A W W B
R 25% TR W, 9 8l A R B H
F9- T, A

(A) €225 3R 425
(B) ¥250 3 ¥400
(C) ¥275 3R T375

(D) ¥300 ¥R ¥350

SPACE FOR ROUGH WORK / TF %M % e s
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49. The ratio of the ages of A and B is
6:5 and the sum of their ages is
44 years. What will be the ratio of
their ages after 8 years?

(A) 8:7
B) 7:6
(C) 6:5

(D) None of the above

If the cost of a television set is
increased by 25%, then by how
much percent the new cost should
be decreased to get the original cost?

(A)
(B) 25%
(C) 20%
(D) None of the above

50.

15%

51. In three examinations, ea

maximum marks 500,’a got
45% and 55% in firs econd
examination respecti order to
get 60% in total ks does
he need in the& examination?
(A) 450
(B) 400
(C) 350

(D) None of the above

Q

49. AT BH Y 6:5 % agua ¥ ¥ @
ST AY F AN 44 3§ 2 8 T e
ST ST 1 ST T 37

A) 8:7
B) 7:6
(C) 6:5

(D) 39 # T g 7

50. A T effast d 1w 25% @ R

S,

A PN R shiwra wrer s
W%@??WWBHW?

20%

(D) 3w # & A 7

51. ?ﬁqqﬂmﬁﬁ,ﬁqﬁmm@am
500 ®, T fornef§ & yom w fidry whien
¥ W 45% 3R 55% i wm il
60% T 99U 3k W A * frw dred
The 38 b oi T Y e 37

(A) 450
(B) 400
(C) 350

(D) 3 & ¥ P 7
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52.

53.

54.

Each side of a square pond is 2 m
and its depth is 1 m. If this pond is
dug in a circular shape without
changing its depth and its diameter
is equal to the diagonal of the
square, then what is the volume
of soil dug out of the pond?

@A) (n-4m°
(B) (4n-4) m®
(©) @n-2)m®

(D) @n-4) m®

The arca of an cllipse is twice the
area of a circle. The major axis of
the cllipse is twice the minor axis.
Then the radius of the circle is

(A)

L 2

50% of the minor axis of th

ellipse

50% of the major axis @
equal to the mixq

equal to the m@ s

ellipse
If 15 pumps apacity can fill
a tank i s, then how many

extra pu e required to fill the
same tank in 5 days?

A) 6

B) 7

C) 14

D) None of the above

L 4

52.

‘53.

54.

T FHR qeE H G S 2 m
o SE TS 1 m 3| SR 3G e
ST SR TR SeS T U T a6
w7 i e Ren Sy e =@ W@ %
ot ¥ e B, @ sud ¥ Fee et
it o1 ST I B

(A) (n-4) m°
B) (4n-4)m°
©) @n-2)m®

(D) @en-4) m®

1 6, TF Fq 5 &HFd FH
| €rige € e S @Y S
R aRE SR
(A) ST % Y ST H 50%
(B) defg o dd A H 50%
(C) g =TH % SR

(D) & =T % TR

ot guF @Eal % 15 U TH Th H
7 B § s wEd 3, @ s o A s R
F wQ ¥ oo frm ofefes ol @
STTEFeRAl B

(A) 6

B) 7

©) 14

(D) S & & HIE T

SPACE FOR ROUGH WORK / T% M % forg s
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55. If the angles of a triangle are in the
.ratio 4 : 3.: 2, then that triangle is

(A) obtuse-angled triangle
(B) right-angled triangle
(C) acute-angled triangle

(D) None of the above

56. A rectangular water tank is
ISm x6m at the top and 10 m
deep. It is filled with water. How
much water should be removed
from it so that water level will go 1 m

~down?
(A) 90000 litres
(B) 45000 litres
(C) 4500 litres
(D) 900 litres
. 87. The volume of a cone is e; that
' of a sphere. If the r 6f base of
the cone is twice s of the
sphere; then t tigyof height and
radius of base the cone is
A) 2:1
B) 1:2
(C) 1:1

(D) None of the above

55, af et B 35 9 4232 % o
g, @ fByw #

(A) eriRrpaRvi fryger
(B) wwehvi frgst
(C) =i frys
(D) 39w ¥ %S 7

U6 HAEAEHER gl Y S 3w
15 m x6_m @ 10 m Tef | 3 g
Eicis P Topamn ah Frepren stTu %

W'
) 00 f&x
X

\(B) 45000 f7x
%(C) 4500 frx

(D) 900 ferex

56.

57. TF T§ H A T NA F 9T ¥
SR B | AR WF *F aR Y e ia A
B 0 gt 3, < v i S aon 3u
TR A1 Breen 1 ergma g

(A) 2:1
(B) 1:2
(C) 1:1

(D) 3uge H | *rE 7t

SPACE FOR ROUGH WORK / % %/ % ffu s
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58.

59.

60.

61.

When 201722 is divided by 23, then
the remainder will be

(A) 1 B) 0

© 9 (D) 6
The last three digits of 17190 will be

(A) 000 (B) 001

(C) 625 (D) 376

The sum of two positive integers is
52 and their least common multiple

is 168. Then the two numbers are \ .

(A) 26 and 26 O

(B) 24 and 28

(C) 30 and 22

(D) None of the.ab@:
] \Qz )
+ 1&

1+ ——

1+4

3 2
@ 5 B) 33

3 11
(€ 23 D) —

58. 201722 1 23 ¥ W &4 W B BN

59,.

60.

61.

(A) 1 (B) O
C) 9 (D) 6
17100 ¥ srfaw & of% B
(A) 000 (B) 001
(C) 625 (D) 376

quiiehl ST AT 52 B TAT IR AGAH
168 ¥ | a1 gETt &

(A) 26 3R 26
(B) 24 3w 28
(C) 30 3 22
(D) 39 | | HIg el
1+ 11 =
l+-—
1+%
2
A - B) 33
3 11
©) 25 O —

0217 /SE-SJ/RCE-M/1-C
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62. (0.02)° = 62. (0.02)° =
(A) 0-008 (A) 0-008
(B) 0-0008 (B) 0-0008
(C) 0-000008 (C) 0-000008
(D) 0-08 (D) 0-08

63. 2x2x2+3x3x3)'7 is divisible by 63. (2><2»@3><3)17 TSy
A 5 " Q

O

(B) 25 \(B) 259
(C) 125 %(C) 1259
(D) All of the above (D) 39 wsft

0-237x0-237x0.237 + 0. 76$><O 0. 763__
0-237x0.237-0-237x 0. .:' )

64 0-237x0.237x 0- )-237+ 0. -0-763x0-763x 0. 763_
* 0-237x0-237- 0-237x 0.7 763+ 0-763x 0-763

fA) O ® (A) 0

64.

B) 1 B) 1
(C) 0-237 (C) 0.237
(D) 0-763 (D) 0.763

SPACE FOR ROUGH WORK / & %@ ¥ fu wig
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65. The missing numbers from bottom

66.

67.

to top in the factorization

are
(A) 6, 12, 24
(B) 4, 8, 32
(C) 3, 6, 18
(D) 6, 4, 8
If two numbers are in the ratio 3 :
and T:heir HCF is 15, then 6
LCM is equal to
(A) 45
(B) 30 Q
© 90 . Q
(D) Cannot be@
If x=28, Kz 27, then
X -3 Xy -3 Xz 3

is equal to
® = ® o

32 96
(C) 32 (D) 96

2

65. OFETE

# T A iR g ded §
(&) 6, 12, 24
(B) 4, 8, 32

@ , 4, 8

667 3 A GEMAT H IFIUW 3:2 T T IR

67.

Ho Wo 15 &, a9 Ih1 To Ho B
(A) 45

(B) 30

(C) 90

(D) T & e T wRd

IR x =8, y=4,2z=27,19

X 33Xy
AR
1 1
B) 35 B 5
(C) 32 (D) 96

SPACE FOR ROUGH WORK / T %W % Ta¢ se
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68. If x=(7+ 4«/§), then the value of

1
Np I
N
is
(A) 8 (B) 6
C) 5 (D) 4
69. The difference between the

numerator and the denominator of
a fraction is 5. If 5 is added to the
denominator, then the fraction is
decreased by 14. Find the fraction.

i L

A) 2 B
A 25 B) -
(&) 3—1~ D) 6
4

70. A train travels first 300 an
average speed of 3@ and
further travels the istance
at an average spe km/hr.
Then the average ecd of the train

over the whole ce is
(A} 35km/hr
(B) 40 km/hr
(C) 42 km/hr

(D) 45 km/hr

68. AR x = (7+443), 7

1
\/—;'F‘E
T W B
(A) 8 (B) 6
(€) 5 (D) 4

~
<,
N

69. et i # sfw ok w W emm 5 2

afe g S, o B 11 @ R
ST R Eay

\0
-
%’ 32

70. TF WS Weell 300 km # it
30 km/hr ! Wd I ¥ T w2
AR AW FH T 60 km/hr # ieE
T R G A R B g0 * Ry Yo
61 3frda =rer Bef

(A) 35 km/hr

[ —

(D) 6

(B) 40 km/hr
(C) 42 km/hr

(D) 45 km/hr

SPACE FOR ROUGH WORK / % % % fu g
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PART—III / wi—III
(1) GENERAL MENTAL APTITUDE / ¥ HATRAE FrAdT

T1. A
If A represents graduates, B
represents rural people and C
represents  politicians, then the
politicians, who are not graduate and
not from rural area, will be
represented by
A) F (B) E
) G D) C .
72. What is the missing letter (?) i

following sequence of diagr
¢/N\A D/I\B E
E F H
&) S . B@
© @ Q@)M’

If MOBILIxis coded as 46293927,
then EXAMINATION will be coded as

73.

(A) 45038401854
(B) 56149512965
(C) 57159413955
(D) 67250623076

71.

A
5\
o/

R A T () ® weifa & g, B
T ST B vefia e € el ¢ Ueras
1 weRfa =@ ¥, @ W T, stoowo

qen 6t ¥, 3¢ wefifa fmn smen
E (B) EsU
C) ) GTU (D) C ¥

<
0. Trfafaa fEl & o o W AR (?)

w1 7MY
c/1\A DAB E Ac FAD
E F G H
(a) S (B) R
€ o (D) N

73, af MOBILITY &1 #18 46293927 ¥, dl
EXAMINATION % %€ B

(A) 45038401854
(B) 56149512965
(C) 57159413955
(D) 67250623076

SPACE FOR ROUGH WORK / T ®W % 0T S7Te
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74. Count the number of triangles in the
following figure :

(A) 39
(B) 41
(©) 45
(D) 47

75. Count the number of triangles in the
following figure :

il

—

(A) 36
(B) 38
(C) 40

(D) 42
76. Which number will bg t the
blank space?

215

4 |7
3|38
1|8

5
7
o]

(A) 48

(B) 44

C) 42

(D) None of the above

74.

75.

*

e g ¢ o & Bt 6 den ) e
Ht

(A) 39
(B) 41
(C) 45
(D) 47

ﬂ%ﬁq@ﬁﬁaﬁﬁmﬁm
H

Q\’\/

76.

A) 36

(B) 38

(C) 40

(D) 42

Gl T § Hi-di g@n anit?
(258 [s1
417|965
3|3|8]/a7
18] 4|

(A) 48

(B) 44

(C) 42

(D) 3% & & ¥ T

SPACE FOR ROUGH WORK / % &/ % Rt wwg
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77, Which number will occupy the blank | ~77. el M T - wen gt

space? (3]4]5
31415 512919
5121919 713|324
71313124 11| 1]4]15
11 1] 4 ]15]

(a) 17 (B) 18

(A) 17 B) 18 ' o

(C) 19 (D) 20

(Cy 19 (D) 20

78. AR A=1, B=2 C=33RA, @

78. If A=1, B=2, C=3, etc, then the 2><3-118+.4—5

value of
2x3+8+4-5 =
stands for (B) D
@ © B D O
¢ € E (D) F
. &
C) E D) F ®
79. : 3 A, B, C, D, E 3R F WghIUIeHR
79. Six friends A, B, C, D, E#BdY are (hexagonal) #s 1 YA H 6 T
sitting along the, sid a @E e % T Refaied SFHIgaR 3
hexagonal table for a game 2
in the order given - :
e o B G F A% fga fwe 4 ¥ @ B
(i) Fis sitti opposite to A, F o Tl 3R 93 B
and tothe ediate right of B.
s\A i) D, AR B& ST M CH
(ii) Dis sittifig between A and B and foega | 31 2
exactly opposite to C.
Who is sitting opposite to B? Ty 7 B % foria 1 1 21
A) A (B) E A) A (B) E
€ C D) F € C (D) F

SPACE FOR ROUGH WORK / T & % fog s
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80. Liver :

81.

82.

Heart :: Kidney : ?
(A) Blood
(B) Nose
(C) Lung

(D) Urine

Find the odd State out of the
following.

(A) Chhattisgarh

(B) Uttaranchal

(C) Jharkhand

(D) Telangana

Find the next numog the

following series : ¢
6, 13, 32, 69,%
(A) 232 ’&

(B) 221

(C) 225

(D) None of the above

\0

©) raTs
(D) QeI
82, PrerRen doh  ofreh v 1 A
6, 13, 32, 69, 130, ?

(4) 232

(B) 221

(©) 225

(D) 39Yh H & g L

0217 /SE-SJ/RCE-M/1-C

SPACE FOR ROUGH WORK / 1% &1 ¥ fyu g
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83. Which number will come in the

blank space?

507, 251, ___, 59, 27, 11
A) 117
(B) 133
(C) 123

(D) None of the above

84. What is the next term

following series?
ABC, BCE, CEG, DGK, ?
(A) EKW

(B) ESW
(C) EKX

(D) EKM

85.

@A) a

What is the letter op
the following sequenc
@

in the

e
ams?

2

N\

83. @l T i SF-g gE seh?

507, 251, __ _, 59, 27, 11
A) 117
(B) 133
(C) 123
(D) ST & & WIS T

84. Fr=ffaa Aot & wren ug F dm?
ABC, BCE, CEG, DGK, ?

(A)
W
+©) EKX

(D) EKM

85. Fmfifad @t % g W e % fawlia
HI-|1 AR TAN?

(A) a
(B) b
€) ¢

D) d

SPACE FOR ROUGH WORK / T &M % T0¢ 578
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(2) GENERAL KNOWLEDGE / 9= 71

86. Which of the following cyclones
affected Visakhapatnam?

(A) Vardah
(B) Ashobaa
(C) Hudhud
(D) Chapala

87. Most of the plantations of tea and

coffee are laid out in

(A) alluvial soil

(B) black soil

(C) mountain soil

(D) None of the above

Match List-I with List-II and select

the correct answer using the codes
given below :

88.

List-1 List-IT
a. Copper 1. Khetri
b. Gold 2. Ba‘ :
c. Iron 3’.
d. Coal 4 a
Codes :
(A) a b &Q
1 2 4
B) a b c d
2 3 4 1
(C) a b c d
1 3 2 4
(D) a b c d
3 2 | 4

86. ﬁmﬁﬁﬁﬁ&mwﬁﬁw@m

Y gl feRerT?
(A) @I
(B) S
©) &=
(D) =9el
87. AM AT HH & 3iferraw N eFme S §
(a) (k]
(B) L}
( EEk
(D T 4 #E 7
‘@ﬁ—laﬁ@—llﬁgﬁ%ﬂﬁaﬂzﬁ%ﬁq
T %2 <l TEEAT § T IR F R L
geft-1 gE-11
a. dfar 1. ©ft
b. GHT 2. Sarden
c. & 3. HER
d. s 4. g
T2
A a b ¢ d
1 2 3 4
B) a b c d
2 3 4 1
C) a b c d
. 1 3 2 4
Ma b ¢ d
3 gk it oy

SPACE FOR ROUGH WORK / W% %™ % RiT se

02 17/SE—SJ/RCE—M/ 1.C
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89. After the recent note ban, the
£2,000 notes were first printed in

80. =TE € i Aeadt % uTe € 2,000 % AR
Tgel el TU W gL

(A) Dewas (A) EE 1R
(B) Nashik (B) i
(C) Salboni (C) greral
(D) Mysuru (D) AgE
90. Per capita income is related to 00. Ui safw 3T el 3
(A) per capita GDP (A) ufa =Re el Eﬁ?l\‘d?‘ﬂ?{ q
(B) per capita National Income (B) i =aRe TER A A
(C) per capita Net National Income (©) fogre Tg I W
(D) None of the above T § w15 T
01. Which State has the highest literacy [o 91 2011 W STUET % IPER WRA H

rate after Kerala in India as per
2011 Census?

(A) Goa ’
(B) Karnataka
(C) Mizoram

(D) Tripura

92. Which ye een made base

year for th imation of GDP by
the Government of India?

(A) 2010-11
(B) 2011-12
(C) 2004-05

(D) None of the above

o3 ¥ T Fhu TSY T WIERAG R W
arfer &7

(A) T
(B) <hiieh
() P
(D) Fg
TR TR T Gehel TRe] 391G el TV

F ¥ o frg ad w1 SgR-ay SR
T RY

92.

(A) 2010-11
(B) 2011-12
(C) 2004-05
(D) 39 § | FE T

SPACE FOR ROUGH WORK / T % % forg <@
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93. Which is the main cause of low
growth rate in farm sector in India?

(A) Lack of wuse of modern
techniques
(B) Lack of irrigation facilities
(C) Deficient rainfall
(D) Lack of use of fertilizer
94. Which institution been

has
abolished in India? ‘

(A) Finance Commission -

(B) Planning Commission

(C) Food Corporation of India
(D) None of the above

95. Which value of Indian currency note
is not in circulation at present?
(A) ¥100
(B) ¥500
(C) ¥1,000 Q
(D) ¥2,000 . 0

96. Which Yojana

8th April, 2015N |
(A) Pradhan M

1 Suraksha Bima
Yojana

(B) Pradhan Mantri Jeevan Jyoti

Bima Yojana
\®
(D)

Atal Pension Yojana

Pradhan Mantri MUDRA Yojana

93. WA # FM-g A = I W w1 w@w
HRT HT 37

(A) enyFer qefsl % Wi 3 w5
B) =g gfaenstt %1 st

(C) auf it =Y

(D) @IT & I F At

94. WRA H H-T Te T B & et &7

frm
74 FiE 7
®aﬁmﬁ TR g5 % R gew @ Ak
e # e 7
(A) €100
(B) ¥500
(C) ¥1,000
(D) ¥2,000
96. Wrd # HH-W AT 8 ¥, 2015 W
RN Y TR ofi?
(A) STt geen sfimr deE
(B) werst e sife ffar s
C) 3fed UsM e
(D) wawEt ‘gar’ A

SPACE FOR ROUGH WORK / W% %1 & ffu sy
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97. When a stone is tied to a string at 97. @ Tl TR & TH & Th R W

one end and whirled in a circle, it ' E1OCTY EL g RCIRHESIRI %, o IE EN L}
will continue to whirl in a circle. WWT@W%I WW"T% )

This is due to

(A) gravitational force (A) TEAR =

(B) centripetal force B) IR ETA R

(C) centrifugal force (C) AIFE A

(D) None of the above

(D) 39 # | HIg T

98. Which of the following is correct?
o8. fmfafeaa # & P-w1 wel ®7

(A) Violet light has minimum

}Navelength and minimum T 1 aoRe e T 2
requency. :
Toeh! g = Bl B
(B) Violet light has minimum q
wavelength and  maximum ) =) STl v 1 quesd < g @
frequency. \ Jor1 3Rt g srferaw B |
(C) Violet light has Eﬂaﬁf =
frequency and © é’;ﬁ i ? t o _S;W-%ﬁfﬁ ¢
wavelength. el G
(D) Violet light animum (D) e w1 o i e R
wavelength ¢ maximum a1 geER T e €l 7
frequency.
99. Which of)®>uowing s not a | 99 FERRE # R - w1
vector?
(A)
(A) Force .
(B) @&
(B) Momentum
(C) Energy © F
(D) Velocity (D) =7

SPACE FOR ROUGH WORK / T &/ % 1Y Sl
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100. Which of the following combinations 100. Ffafag H Y -9 e 27
is incorrect?

(A) Tetanus—Bacteria (4) fera—aten

(B) Rabies—Virus (B) We—arry

(C) Diphtheria—Protozoa | (C) feeefifmr—arshan

(D) Diabetes—Degenerative disease (D) SRy foshs

101. Which of the following statements is | 101. FrefaReaa wet & & #m-ar g E
not correct? ..
(A) T e WA & Hafd §)

(A) Amino acids are related to

protein. (B) T~IIEH 919 IS |
(B) Enzymes are biocatalysts. (©) I = 2
(C) Protein is a polypeptide chain. T3 FiE T

(D) None of the above N
. 1 fmfafan 76t 4§ 4 frum e T 5
102. Which of the following gases has the BT 87

least density?

(A) SATeRfisH
(A) Oxygen |
(B) Nitrogen Q (B) T
(C) Helium N 0 ' (©) ferm

(D) Hydrogen @ (D) ETEgIH

103. Which of the & irfg is not plant | g3, fefafaa § 4 -wr wew G T 27

nutrient?

(A) Sodium (4) e
(B) Potassium (B) iR
(C) Phosphate (C) ek
(D) Arsenic (D) i

SPACE FOR ROUGH WORK / % &1 % fu s
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104. If the Speaker of the Lok Sabha | 104. Ife e T o TR 3T o 5a o
resigns from his political party = 2 da R (52 wxied ¥ e #),
(in the context of 52nd Amendment), a1 &1 B
what will happen?

(A) He cannot be the member of (A) %Waﬁlwr{‘gﬁrﬁm}

the House. (B) 98 § H wewm ¥ g e
(B) He will be declared disqualified =i 1 S|

for the membership of the .

House. (C) §e H SHeh! weEHdl ECiRel
(C) His membership of the House (D) Wﬁ@ﬁﬁ |

will continue. '
(D) None of the above 105. (liail: fafy W i = ERC H

105. What are correct about expenses

charged on Consolidated Fund? . BRI ER IR 2
1. It is prepared by the Cabinet. | el R i e A B T L
5. It is submitted for the voting o FrnsmE

the Lok Sabha. Q 3. o o W & wed % forg wega foRem
3. It is submitted for ST 8|

discussions of the Lo a. .

4. Tod ARy Ao W g g

4. Tt includes the of the ' i

President. 5. T o al % gedl e Wi
5. It include salary of the Gl

e ok Sabha. 6. Tal e wl % TR H Ao M
6. It in& the salary of the B 2

Speaker of the Lok Sabha.
P (A) 2, 3,436
(A) 2, 3,4 and 6 #
B) 1,2, 5 6
(B) 1,2, 5 and 6 B) &

() 2,3, 5and 6 ) 2,3,53%6

D) 1,3, 4 and 6 D) 1,3, 4 3R6

SPACE FOR ROUGH WORK / T & % f¢ ITe

0217 /SE-SJ/RCE-M/1-C 32



106.

107.

Who decides the disqualification of a

-candidate contesting the election of

the Lok Sabha?
(A) The President
(B) The President with the opinion
of the Election Commission

(C) The Judiciary

(D) The Government of India

What is the correct sequence of the
following in the context of Article 19
of the Constitution?
1. Freedom  of and
expression

speech

2. Freedom to reside and to settle \
3. Freedom of movement ¢b

4. Freedom of assembly

5. Freedom to form as n

6. Freedom fo)

ofession,
occupation i

USINeEss

)

@A) 1, 4,3, 2
B) 1,4,5,3,2,6
2,4,6,1,3,5

(D) 2,3,5,6, 1, 4

106.

107.

W W A A e At eneff )
IR S T s 87

(&) wgufa

(B) wgufd, Matew sl 6 gmfy §
(C) =rTfeTsht

(D) WRA TWER

Higum % 31g=as 19 % devf § frfafam
T TR T AT R?

€ 2,4,6,1, 3,5

(D) 2’ 3? 5’ 6’

0217 /SE-SJ/RCE-M/1-C
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108. What is the correct sequence of the
following words written in the
Preamble of the Constitution?

1. Liberty

2. Equality
3. Fraternity
4. Justice

, 2
, 2

b
2
? >
2

NN W s
w s~ W

?
>
K
?

(e
A W = =

1
, 1

109. Who among the following is

unmatched in the context of election
of the Vice President of India?

(A) Dr. S. Radhakrishnan
(B) Dr. S. D. Sharma

(C) M. Hidayatullah

(D) R. Venkataraman

110. A Bill amending the Article 36

voting, 271 member
and the House pagSe
unanimously. Now

to the Bill?

(A) The Bi
(B) The

1 !
passe&

(C) After the signature
Speaker, the Bill
declared passed.

(D) The Bill will be sent to the
Rajya Sabha.

not be declared

of the
will be

108. Gfyum A v # fo@ o Fefaiaa
Y1eeT 1 G A T 37

1. T
2. |l
3. 9
4. ==

Ay 1, 2,
B) 1, 2,
< 3,1,
(D) 4, 1,

109. F Fratew & dedf d T
? W=/
L 2

-

SIS
w H» P~ W

Elo THo TP
(B) &fo wHo o Tl
(C) o feerggm
(D) TR0 FoheTHA
TG % 37g=0¢ 368 W TR F %
ot fdes de wn ¥ s )
THeF % 9R9 271 UEE U@ 9 R

e gaamy & fadus i uia = 3 7
19 frdes 1 9 BmY

() Terdees mit =ifa foen smem)
(B) Trdreres wifa =iy =&t 2

(C) TR % TEeR % ae freees i
~ Hfee e

(D) Terdremes T | =1 WS ST

110.

SPACE FOR ROUGH WORK / T &@ & fog s
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111. Which of the following Vedic | 111. Fefafaa § & #F-ur 3% Rgm sd9m

sciences has been most appreciated 9T | Hh geiee ¥ et RESIEGRED
and revived in modern times? T 27

(A) Medicine (A) ﬁﬁb—a:"

(B) Mathematics (B) wfvr

C) Ast :

(C) Astronomy (C) wita-fEm

(D) Physics D) s

112. Which of the following was the most . .
famous centre of learning during the | 112. i et § fm Afered § & wF-an Rram
Mauryan period? BEC = or?

(A) Taxila (A

B) Naland g}m
B) anda 0\ 8
(C) Vallabhi & (C) =gt

(D) Ujjain

113. During the reign of wk the 113. f=afifas § @ foeell % g gaAdH &

following Sultans 1, the w1 2R wRe ) R R Sl
conquest of South I ook place?

(A) Balban ,& (A) ST

(B) Jalaluddin Khilji (B) W@?ﬁﬁ?ﬂ?ﬁ

(C) Alauddin Khilji (C) reTser faersh

(D) Ghiyasuddin Tughlaq (D) FrmgeR greres

SPACE FOR ROUGH WORK / % %1 % fou s
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114. Who among the following Governor- | 114. T § 58 TER-IRa A ‘Teu & Tagra
Generals introduced the policy of %1 N gy 7
‘Doctrine of Lapse™?

(A) Warren Hastings (A) T
(B) Lord Cornwallis (B) WS Hiarierd
(C) Lord Wellesley (C) e Farsieh!
(D) Lord Dalhousie (D) i <edsh

115. In which of the following Sessions of | 115. wRd™ g™ wiw % Ffafed # & 6w
the Indian National Congress in sfReEm #1907 T wIW §e wEl?
1907, the first split occurred?

CIBEE]

(A) Surat Session

(B) Ahmedabad Session \ ) ITEHETSIE AT
¢
(C) Poona Session : (C) g wAftrEEH

(D) Bombay Session (D) Et= I BENE
116. By which of the g Plans, | 116, f=fafes # & fra Jwm 30 1947
the Partition of took place T 1 TS gan?
in 19477
A) I AR
(A) Youn@ (A)
(B) Wavell Plan (B) o ISEL
(C) Mountbatten Plan (C) Weae Al
(D) Montgomery Plan (D) Wi AT
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117. On which of the following dates,
India became Republic?

(A) 15th August, 1947
(B) 26th November, 1949
(C) 26th January, 1950
(D) 1st April, 1952

118. Which of the following cities has the

maximum longitude?
(A) Mumbai

(B). Delhi

(C) Raipur

(D} Chennai

119. As per Ferrel’s law, ‘Coriolis force’

deflects wind

(A) to the left in the Northern

Hemisphere and to the right in
the Southern Hemisphere

to the right in the No
Hemisphere and to the

the Southern Hemi%
Both (A) and (B) 0

None of the a

(B)

(C)
(D)

Which river Q(ween Satpuras
and Vindhyat&

(A) Godavari

(B)
(C) Narmada

(D) None of the above

120.

117. F=fafas § & fre /Y 9 ure
TORSY §H17

(A) 15 3vRE, 1947
(B) 26 TR, 1949
(C) 26 SHadl, 1950
(D) 1 37, 1952
118. Fefafes & & frw s =1 2w o=
Hfoss 37
(A) g
B) R

(©) &

(D
119. % JER FRAfE T @
‘o Y aRE e g
\(A)aaﬁwﬁméﬁwaﬂzwaf‘w
ey # grft ek

(B) W Tiend # erft ok g =faoh
e & wrft ok

(C) (A) 71 (B) FF

(D) Y & § Fr§ e

Tagel 9 T & mwy P-dt 9@
edt §7

(A) e

(B) Te®H

(C) a1

(D) 3T # & +ig e

120.
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(3) CURRENT AFFAIRS / TRATH R e

121. In this State, tin ore reserve is found
maximum in '

(A) Tongpal area
(B) Katekalyan area
(C) Padapur area

(D) Bacheli area

122. Which of the following is not

correct?

(A) Bipin Rawat is the successor of
Dalbir Singh Suhag as Army
Chief

(B) B. S. Dhanoa is the new Air |
Force Chief replacing Arup Raha

(C) J.S. Khehar is appointed as
44th Chief Justice of Indi

ief
desh

(D) Nabam Tuki is the
Minister of Aruna

est on 26th
Republic Day

123. Who was the C

program

ollande

(A) Francois
(B) Angela Merkel
(C) Shinzo Abe

(D) Theresa May

121. 74 U9 & A9 STk wng wait e
(A) dim@ & A
(B) “hasheaor & H
(C) we & 7
(D) sl &= |

122, Fean § & w0 TR

(A) fore gem & wvar, faiH T
% gitaan B
@1 ¥ TEETq de To T AT
() REERRECE

\’ (C) Fo o VW WRA % 444 THA
=rrnehy g §u d

(D) TEW R TEEE W % A T
LEIR

26 SAl, 2016 F1 W F T Rew &
FEiHA # ger afafy wF 97

(A) Serrra e
(B) TS Wb
(C) TS o1
(D) & #

123.
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124. Who received the Pt. Ravishankar | 124. T TSI 5 2016 % UST [0 QR
Shukla Honour (Samman) in 2016 T Yo Iergiaw T g fom T e
Rajya Alankaran Prizes of this
State? (A) #f TIHEA EE
(A) Shri Rajkamal Naik (B) #t forie gum 3yt
(B) Shri Vinod Kumar Shukla (C) =ft T
(C) Shri Naresh Mishra (D) # *1fia yree
D) Shri Amit Patl .. .
S e ate 125. 0 USY & QAR e &1 g6y Sy § 9
125. Punaram Nishad of this State is Torerd 27
. . . "
assoc1.ated with  which of :he &) &
following?
(A) Sports (B) wf
(B) Music (C)
(C) Handicraft
(D) Politics . :{ A Rem 31 fr § 4 e f 2016
126. Bob Dylan received the 2016’s Nobel RREE 3w R feam men?
Prize for which of the following? ® (A) hff
(A) Physics (B) WRA
(B) Chemistry © iy
(C) Peace
. (D) wfee
(D) Literature
127. 6391 IRERT Wed F@R T 5y
127. The 63rd Dad halke Award i

was given to

(A) Manoj Kumar
(B) Shashi Kapoor
(C) Gulzar

(D) Pran

T man?
(A) S FAR
(B) w31 g

(C) TSR
(D) ¥
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128. Which of the following are true
about 8th BRICS Summit?

1.
2.

It was held in Benaulim, Goa.

October 2016.
Vladimir Putin participated in it.

It discussed environmental
issues of the region.

@A) 1,2, 3
(B) 2, 3, 4
©) 3, 4,1
(

D) None of the above

Match List-I with List-II and select
the correct answer using the codes
given below :

129.

List-I - List-II

a. P. V. Sindhu

1. Gymnasti
b. Deepa Karmakar 2. Wrestl

c. Jitu Rai n

d. Sakshi Malik

Oé;

Codes :

(A) a C

S

[e]

N
-0 M Na b

DO

It was held in the month of

128. 83 ‘g weem ¥ uwaey #f frfafed @
' ¥ = w77
1. T8 WAt ¥ fem § Rt fom
T
5. ¥ I 2016 W § SERE fR
T

3. ooffr gfew 3 e W fer)

4. zEit fE wlavia ga w w= 6
T3
@A) 1,2, 3
B) 2, 3, 4
(C) 3,4, 1
D H q g T
129. eI & ghfe it ot i fan
;, | ) FEEdT § TE I H A R
\0 -1 11
a. o oo fry 1. TR
b. €T FHHHR 2. Fdl
c. ST 3. Jefien
d. weft wicrs 4, TreTeErst
%2 :
(A) a b c d
3 1 2 4
®a b c d
3 4 1 2
(C) a b c d
3 1 4 2
(D) a b c d
3 2 4 1
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130. Which of the following are true
about Junior Hockey World Cup?

1. It is held every four years.

2. Men’s Junior Hockey World Cup
2016 was held in Lucknow.

3. Women’s Junior Hockey World
Cup 2016 was held in
Melbourne.

4. India defeated Belgium in the
final of Men’s Junior Hockey
World Cup 2016.

5. Harjeet Singh was the captain of
the Indian team for Men’s
Junior Hockey World Cup 2016.

(A) 1, 2, 3, 4
B) 2, 3,4, 5
C) 3,4,5,1

D) 4,5, 1, 2

. < ,
Indra Navy’ bilateral ercise

was done by Indi of the
following countri

131.

(A) France
(B) Germany
(C) America

(D) Russia

130. freiferfen & & @ gfer fve 37w
aR 7w {7

1. 98 el =) o % s drar 2

2. T S T ww g 2016
TES § AR g

3. #feen PR fwa #w @ 2016
Aere & s ger)

4. T SRR fwa w1 gk 2016 @
Bl T 9RA ¥ e ) g

(D) 4,5, 1, 2

B AN feha e s w3 Ry
# ¥ 5w 3w % Wiy fea o7

131.

(A) ®r|
(B)
(C) Mt

(D) &8
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132. The first water bus project in India
is started by the State of

(A) Punjab
(B) Maharashtra
(C) Odisha

(D) Madhya Pradesh

133. Which of the following is a name of

cyclone came in Bay of Bengal in
20167

(A) Hudhud
(B) Phailin

(C) Nilofar

(D) Vardah .

134. Serendipity Arts Festival was he

>

Ruchita Wirterkar is associated with-
which of t ollowing sports?

(A) Odisha
(B) Assam
(C) Goa .
(D) Manipur

135.

(A) Squash
(B) Shooting
(C) Tennis

(D) Hockey

132. wtﬁmwaawmmaﬁn
e 31 A frw T 7 fomm ®7

(A) TSTE
(B) HeWX

5016 i T Y @ A AT THIE B
T fre o A 7Y

(A) gags

(B)

Q Bl

34, WREH Fa
o ga e
(a) snfem
(B) *EH
(C) T
(D) AT

Ty fve B 1 3 fre @a & datE
37

(A) &=

B) fremash

(C) ™

(D) BTl

133.

wega R § ¥ w

135.
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(4) GENERAL KNOWLEDGE OF STATE / <9 %! U= S

136. Match List-I with List-II and select
the correct answer using the codes
given below :

List-T List-I
a. Shimla of this 1. Ambikapur
State
b. Island of Sal forest 2. Lafagarh
c. The first biotech 3. Mainpat
park of this State
d. Chittorgarh of this 4. Bastar
State
Codes :
(A) a b c d
1 2 3 4
B) a b c d
2 3 4 1
C) a b c d
3 4 1 2 Q
(D) a b c de 0
4 3 2

Which of the fo istricts has
the lowest pop\% density in this
State according t6” Census 20117
(A) Dantewada

(B) Sukma

137.

(C) Narayanpur
(D) Bijapur

136. FEi-1 I g1 & gafer =t ok 99 R

T FZ ! GEFAT H T I HT 95T FL
-1 qe-11
a. T U9 % Rwen 1. AR
b. ATE STl 1 g9 2. ATHITE
Cc. 39 U9 H YuH 3. TR
EERYBIHCIREIEY
d. 38 T =1 ferdiee 4. TER

b c

(A)
Q% S
B a c

= A 0,

b
%\ 2 3 4
(C) a b c d
3 4 1 2
Ma b ¢ d
4 3 2 1

137. 2011 &1 SIUAT & IR, 36 T &
Tiefafaa & @ frq F =1 e e
I 1 }7

(A) darET
(B) gFHT
(C) TRwvgR
(D) TR
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138. In this State, which of the following | 138. w o, frefafea # @ frg o *
ores is standing first rank in ore mﬁmmwwﬂw%?
production in India?

(A) Chalcopyrite @) AR
(B) Tin . B) f

(C) Hematite (C) TR
(D) Bauxite (D) CIEGIE

139. Which of the following district pairs

? kB = } g
has the highest and the lowest 139. fmfaiad 2 forelt 1 Fopw et A

) AR ?
literacy rates? A T R
(A) Dhamtari—Dantewada (A) gFFd—EdareT
(B) Rajnandgaon—Bijapur ( fe—ssIgR
(C) Durg—Sukma @sﬁ__w
D) Raipur—Kondagaon S
( . (D) ARSI
140. How many Lok Sabha seats
there in this State? 0 0. =\ T dve B el w27
@A) 11 a) 11

(B) 12 Q B 12
© 13 ¢ 0 (C) 13
o O

(D) 14

141. Which: o@lowing is not true | o
about ‘Bhojali’s 141, “sismel’ % way & w0 W T ¥

(A) It is a song of this State. (A) q‘ggg'(mq;[qaﬁ‘rﬁa%|
(B) 'll‘afﬁ(si song is related to water in B) 7 - 3 e o 21

(C) It is sung by farmers. (C) T Teraml 3 ST T e =

(D) None of the above (D) Wﬁﬁ # Qg Tl
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142. Which of the following authorities is

142, ﬁmﬁff@aﬁﬁaﬁq—mmmwmw

the constitutional head of this H’émﬁaﬁuga%?
State?
(A) T&a =mnefin
(A) The Chief Justice s
(B) waTireA
(B) The Advocate General
(C) The Governor ©
(D) The Lokpal (D)
143. How many tiers are working in the | 143. ¥ T LRERLAE TR % T W
Panchayati Raj system in this State? =
(A) Two tiers (A)
(B) Three tiers . g}ﬁﬂw
\ ¢
(C) Four tiers Q(C) IR TR
(D) None of the above (D) gqéﬂ;ijg HIE T
144, ;I‘;lc f;tt:e;iom fightir ]Zir.t i of 144. 70 T9 3 : T <o s
1S ate was not rela m_gmqﬁ%?
A) woman’s e
(A (A) mlieem Jeum
(B) untouchab&eradication
(B) srerwyar famor
(C} Gandhian Movement .
(C) RS & F<rew

(D) the fact that she completed her
medical education in England

(D) 3ER Tuferean Mam sz & Wiy ey

SPACE FOR ROUGH WORK / W %1 % fe g

0217 /SE-SJ/RCE-M/1-C

45 [ P.T.O.



145. Who among the following was the | 145. 8 T T HeAgR Y1 % A HT GRS
founder of the rule of the Kalchuri T 9 e At
dynasty in this State?

(A) Kalingaraj () PRI
(B) Kamalraj (B) HHSTS
(C) Kokalladeva (C) wrwgsd
(D) Ratnadeva (D) Tl

146. During which of the following 146. = A f el T % TEAET Fza

Bhonsla rulers in this State, the ¢ ¢ )
’ g’ €] ?
‘Suba system’ was introduced? T Gl A RS

(A) Bimbaji Q@

(B) Vyankoji . (B) oFhISt
*
(D) Parsoj D) e
147. In which of the follpwa ears, the i
Sepoy Revolt *ac in this | 147. frffam & @ e 9§ W W T 7
State under leadership of Wﬂﬁ?%ﬁ@ﬁﬁmmgaﬂ?.
Hanuman 45§
’\' (A) 1855 %o
(A) 1855 A
(B) 1856 AD (B) 1856 %
(C) 1857 AD (C) 1857 %o
(D) 1858 AD (D) 1858 %o
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148. In which of the following places in
this State, the local people offered
first ‘Satyagraha’ in 19207

(A) Dhamtari
(B) Rudri
(C) Kandel

(D) Gattasilli

149. In which of the following feudatory
states in this State, two tribal
revolts took place during British
rule?

(A) Rajnandgaon
(B) Kanker
(C) Bastar
(D) Kawardha Q
O
150. The highest part of @ate is

(A) Jarang Pa®

(B) Mainpat
(C) Jashpur Pat

(D) Samripat

148. W T % fafifad § ¥ frg e &
W MY 1920 § wuw ‘gem’
Tora?

7 ¥ g wg o9 §
ﬁ?ﬁmﬁmﬁﬁﬁegq?

(D) wHaui

150. 39 TST &1 999 Ja1 w2

(A) ST U
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